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Arithmetic Progression

(1)

(i)
(i)

Arithmetic Progression is a, a + d, a + 2d, a + 3d ... nth term is given by -
t,=a+(n-1)d

Sum to first n terms of an A.P.is S, = g[2a+(n ~1)d |

If the last term I (nt" term is given, then§, = g[a+l])

Geometric Progression

(
(i
'

Geometric Progression is a, ar, ar?, ... ar™! . nth term is given by t, =ar™

Sum to first n terms of an G.P.is S, = if r=1

Suppose r =1 then S,=na

Sum to infinite termsof aG.P.a+ar+ar?, ... is S :%where ~1<r<1

Special Series

(i)
(i)

The sum of first n natural numbers1+2+3 ...+

The sum of squares of first n natural numbers

P2+2+3  + ="+
6

The sum of cubes of first n natural numbers13 + 23 + 33 ...+ n3 =(_n(n2+ 1)]

The sum of first n odd natural numbers 1 +3 +5 + ...+ (2n-1) = n?

Part -1

1. The sum of three consecutive natural numbers is 3666, then find the numbers.
il DIbHHBHH Buled elemiHeNet  FmBHHEL 3666  6leNe0  DIGIOIEIEHIHM6TS
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What is the 215t term of the sequence 100, 95, 90, 85
100, 95, 90, 85.... et O TL_Jouflenguiest 21aig o mii] eTester?

How many terms in AP 7,13, 19, , 205.
QorsHs o milisefer eemrenidms 7, 13,19, , 205.

In an arithmetic series, the sum of first 14 terms is -203 and the sum of the
next 11 terms is -572. Find the arithmetic series.

R F&LBH OHTLfled wWPpaHed 14 o mpiliysefer gmBHev -203 BB DiBHS 11
© mIIH6MeT SnbHev -572 eleled HSHOBTLMIS SHT6uIb.

In a Geometric progression t, = g it =% . Then the common ratio is

R OCumEPGH OHTLT euflenguied tzzg LOBBILD tS:% aefled OuTgkl el&FHLd

BTG .

The 7t term of the sequence 0.12, 0.012, 0.0012..... is
0.12,0.012, 0.0012..... aeiiB  OFHTL_Jauflenguied 7aigh 2 mii]?

Which term of the geometric sequence 1, 2, 4, 8, .... is 1024?
1,2,4,8,....0 1024 ez e1dHHmeuimalgdl o mili]?

Find the value of Kif 13 + 23 + ..... + K®=44100.
Ker wadiny smemias:- 13+ 23+ ... + K3=44100.

The sum of the series 31 + 33 + ... + 53 is
31 +33+ ...+ 53 ari3 OFHTLfl6dT FmbBH6v 6T6vT6017

Find the sum of 11 terms of the sequence 3, 8, 13....
3,8,13.... a&iB Sl BHOSTLFletT (pHe0 11 o milijseflen gnbHeo eresrent?

If the product of four consecutive terms in GP is 625. Find the first term.

@ umEEsH aTLT aflosliar SIBGSHHGHS BIEEG 2 DILiseisd OLmHHSS
OFHTmsE 625 66D (LPHEL 2 MILINHLIS SHTEwIS.

Rekha has 15 square colour papers of sizes 10 cm, 11 cm, 12 cm, .... 24 cm.
How much area can be decorated with these colour papers?

GramalLd 10 Gg.5, 11 Q.15 12 G&.15,...., 24 Q5.5 elwiB USS DleNajeien 15
FHT Qg6  GUIeNIH HTHIMIBET o 6leNedl. @b CUHIENIDH  HTH HHIHM6NTSH
O®Teni(h 6TelaueNey LTLIML DML HH SevmISTEHS (1Lpigub?

12+22+32+....252
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122+ 132 + 142+ .... + 352

The first term of an A.P. is 6 and the common difference is 5. Find the A.P.

series
R LB OaTLTauflewguled (PpHed o @iy 6 wBmID Oursk elsbHwrgd 5
aTIeN60 DIHOSHTLT euflengenul HITewIsb.

The 10t and 18t terms of an A.P are 41 and 73 resp Find the 27t term.

R Sl BHOSTLTeuflenguled 10 wmpId 18 SLeud o miiysen (wpewmGui 41
LBWILD 73 eleled 27 SLoUFH 2 BILIHLIS SHTEWISH.

In a geometric series, if the fourth term, is %and seventh term is g, then

what is the first term of the series?

R OUmEGH OHTLT euflengule HISIBTOISH 2 ML % IOBOBILD  SIH6IT  JLOTAIS]

® mliL ga@‘ﬂa‘) OhS auflengule (LpHe0 2 MILIL| 6T6dr60r?

In a geometric sequence, the first term is %and the sixth term is 71%, find the

G.P
R QUHSHGS CHTLTeuflengulsd (PpHed LOBMID SEBTaUH 2 BILIS6T (LpedBEU 3/

%9 aefley, SIIOLIHEGHSH OBHTLT auflenFenuls HTewis.

I[f12+22+32+ ... +102=385then 22+ 42+ 62 + ..... + 202 is
If12+22+ 32+ .... +102=385 etetfled 22+ 42+ 62+ ..... + 202 a1 O]

Part - 11

Write the following rational numbers in descending and ascending order.
-3 7 -15 14 -8
5'-10" 20 '-30'15 "
eltaupld aldSH(pml elemwibenen  @BHIE oaufleng LBBID gnl euflengulsd 61(1DHIS:
-3 7 -15 14 -8
5'-10" 20 '-30'15
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What is the difference between the sum of first ‘n” odd natural numbers and
that of first ‘n” natural numbers?

WHed ‘N’ @mop Buied cmiselaT EmBHNBG (PHO N BUIed  eTenTSH6N 6o
FHHVSGID 2 66N alGHHUITFID 66016017

The value of 3/+0.015625 is
{+/0.015625 6it O] BHT6uIH.

The cost of three mathematics books and four science book is Rs. 216. The
cost of three mathematics book is the same is that of four science books. Find
the cost of each book.

(el BB LSHSHFBMIS6T oBmID BTl opaluwlsd UHdHsmiseler GoTshs
alemev eh. 216, AW HWIFHL LGHHBRIS6MNeT aleweould bHIG Dimlaluied
LSHSHBRIBMT alleweou|ld FIOD 6160160, @aIGUT(H LHDHBHH T alencvenuid HTeulb.

A number consist of two digits whose sum is 11. The number formed by
reversing the digits is 9 less than the original number. Find the number.

Qb BIWIB Devbd  cTenIenlel - BeVHIMIFBH  FnBHL 11.  DeVHBMmIHENENT
BBy SimwEHGD CuTghl S G 6lewl (PhmHUl 6elewiensml ol 9 Gemme]
oTealleL, DIbSH 6TerIened HewIBHLIY.

If A=265and B =264+ 268 + ... +20 then find the relation between A and B.
A =20 pimub B = 264 + 263 +. . +20 gi@led A — &@ B- S@ib @enL Guiujeen
OHTLITL] HT6oID.

There are 12 pieces of five, ten and twenty rupee Currencies whose total
value is Rs. 105. But when first 2 sorts are interchanged in their numbers its
value will be increased by Rs. 20. Find the number of currencies in each sort.
MhFH, USHH BBID Amug eputul CrhTl (Bsefem GTdhs wWHIY H.105  BEBID
Cwrsdse  Crrl(hsefllen elemienldbamd 12 (wpHed Qe oauend  GHTL(heoerer
cTewiemlbendemU @ TBBLD  GFUISTe0  (WPphewdw  wHlemu ol ep. 20
OIFHHMNHHBGHI. 6Tal60, eTHIHMT MbFH, LSS LOBBID Sbug epurwl Gnm(Bael
©_GiT6IT6ol.

The difference between two numbers is 5 and the difference between their
squares is 75, find the larger number.

B eemiBEhHG GG 2 efen  Coumium® 5, B  AITHEHISEHHG
B G o _siten Coupir@ 75 etedlled @euai(h elewideaier GQuflw iy wrg?

The sum of three umbers is 264 if the first number be twice the second and
third number be one third of the first, then the second number is

PG| 6TEIBEMET Fn(HHov 264 (IpFH60 6l6wl EJewilmeugdl elewr GUT6L E(H LOL MG,
CLOGIIMTEUS] 616001  (LPFHED  6T600T6mI60  CLPeNsled e LIMIEG 6160160  E)T6U0ILTeUGH| 616001




